


WINDOW AWNING ... all yearsPART #Ref #

AWNING RAIL (per ft.)3432401

RIVET, 5/32, BLIND (rail)3161502

BRIGHT COMPLETE CASE - 3 Slope, Pre 97 (4 Slat, per ft.)2042403

SATIN COMPLETE CASE - 3 Slope, Pre 97 (4 Slat, per ft.)7042403

BRIGHT COMPLETE CASE - 8 Slope (3 Slat, Flex Key, per ft.)2052403

SATIN COMPLETE CASE - 8 Slope (3 Slat, Flex Key, per ft.)7052403

BRIGHT COMPLETE CASE - 3 Slope, 3'-5' (2 Slat, Flex Key, per ft.)2082403

SATIN COMPLETE CASE - 3 Slope, 3'-5' (2 Slat, Flex Key, per ft.)7082403

BRIGHT COMPLETE CASE - 3 Slope, 5'6"-22' (2 Slat, Wide Flex Key, per ft.)2092403

SATIN COMPLETE CASE - 3 Slope, 5'6"-22' (2 Slat, Wide Flex Key, per ft.)7092403

BRIGHT SINGLE CASE SLAT (per ft.)3402403A

SATIN SINGLE CASE SLAT (per ft.)3412403A

FINISHED WINDOW/DOOR AWNING FABRIC (per ft)2262404

FINISHED WINDOW/DOOR AWNING FABRIC, LONG (per ft)2272404

REPLACEMENT PULL FOR WINDOW AND DOOR AWNING2269004A

REPLACEMENT PULL FOR WINDOW AWNING, LONG2269014A

ROLLER TUBE, 2-1/4" (3'-5') (per ft.)3322405

ROLLER TUBE, 2-1/2" (5'6"-22') (per ft.)3312405

SPRING ASSEMBLY, ROUND WIRE FOR 2-1/4" TUBE2211006

SPRING ASSEMBLY, SQUARE WIRE FOR 2-1/2" TUBE2212006

SPRING ASSEMBLY, SQUARE WIRE FOR 2-1/4" TUBE2211026

2-1/4" IDLE END ASSEMBLY2215507

2-1/2" IDLE END ASSEMBLY2215007

HEAD CASTING WITH COTTER PIN2104308

SUPPORT ARM

BRIGHT "G" ARM FOR "47" REAR AWNING2311009

SATIN "G" ARM FOR "47" or "52" REAR AWNING7311009

BRIGHT "C" ARM FOR WINDOW AWNING2312009

SATIN "C" ARM FOR WINDOW AWNING7312009

BRIGHT WINDOW AWNING ARMS231XXX9

SATIN WINDOW AWNING ARMS731XXX9

MOUNTING KIT "47" WINDOW AWNING, (OR)...299310

MOUNTING KIT STANDARD WINDOW AWNING,  includes:299320

(2) BASE HINGE, RECTANGULAR (floor mount)21006010A

(2) BASE HINGE, TRIANGULAR (rib mount)21005010A

(6) RIVET, 3/16 X 1", OLYMPIC31603010B

(2) BOLT, 1/4 - 20 X 1-5/8", HEX HEAD31001010C

(2) BOLT, 1/4 - 20 X 1-1/4", HEX HEAD31004010D

(4) NUT, 1/4 - 20, ACORN CAP (stainless)31101010E

(2) LOCKWASHER, 1/4" (stainless)31201010F

(2) COTTER PIN, 1/8 X 1" (stainless)31302010G

HOLD DOWN HOOK KIT,  includes:299330

HOOK CASTING21044011A

(2) RIVET, 3/16 X 3/4" OLYMPIC31601011B

TRAVEL LATCH KIT29934412

WINDOW TRAVEL LATCH HOOK CASTING21041112a

COMPLETE SET OF HARDWARE (includes items 8(2), 9(2), 10(1) & 11(1) above)

BRIGHT "47" REAR AWNING HARDWARE230100

SATIN "47" OR "52" REAR AWNING HARDWARE730100

BRIGHT "C" WINDOW AWNING HARDWARE230200

SATIN "C" WINDOW AWNING HARDWARE730200

BRIGHT WINDOW AWNING HARDWARE230XXX

SATIN WINDOW AWNING HARDWARE730XXX

(XXX) - YEAR, MAKE, MODEL OF COACH REQUIRED

12/01/18




